SmartM3
Adding a 2-digit number and a 1-digit number (with
carrying)

Grade 3 Addition Worksheet
Date: Name:

LET'S MAKE ADDITION OF NUMBERS FUN

What is the sum of the following numbers.

1. 28 14— 1. 31 +9=
2. 3546~ 12 53+ 7=
3. T1+9-— 13, 62+ 8=
4. T+ 5= 14. 85 + 8 =
5. 824 8= 15, 47 +8 =
6. 524 8= 16. 14+ 7=
7 19 + 3 = 7. 22+ 8=
8. 261 6= 18. 13+ 9=
9. 38+ 9= 19. 39+ 3=
10. 47 + 4 = 20. 57 44—




" SmartM3thz
Adding a 2-digit number and a 1-digit number (with
carrying)

1. 28 +4 =32 ] 11. 31 +9 =40 |
2. 35 + 6 —[ 41 | 12. 53 +7=60 |
3. 71+9=1[80] 13. 62 +8=[70]
4, 77T +5=1[82] 14. 85 +8 =93 |
5. 82 +8 =190 | 15. 47 +8 = [ 55 |
6. 52 +8 =60 | 16. 14 +7=[21]
7. 19 +3-[22] 17. 22 +8 —[ 30 |
8. 26 + 6 —| 32 | 18. 13 +9—[22]
9, 38 +9 [ 47 ] 19. 39 +3 =42 |
10. 47 + 4 —[ 51 ] 20. 57 +4 =61 |

Answer Explanation: Remember that;
Regrouping (or carrying) in addition means, if I add two numbers and end up
with a 2-digit number, then I have to put the digits in the right place value.

For example: What is the sum 47 + 4 =

Add the ones Regroup Add the tens
(or carry)

Therefore, 47 +4 =



